== I3 MASESD0|I2FIA2 o > _ B
ZS 0N (20158 57020+ AEREHS HBURF: 2015-04-02  FBIIsH: 2015-12-27
2 AD
= = =2f| Ch MZ2H| | HH| | WCHAE DALY Q12
X DA | R 402,402,896 397,775,343|  179,278,067| 979,456,3068| X ZHAt=H 979,456,306
e B 336,474,701 526,493,334| 183,097,264| 1,046,065,299| ZZEZ=2Z M | 1,046,065,299
Eyr =TT 1 Al ML 2H| x 2HEE=LHIS 0.1090 57,387,773 43,357,512
(%) = 0.1090 57,387,773 57,387,773
0 0
SHIH| 2 J|E Al
I |EF 1 0 5
ATiEs 2 : Al (B L2H| + 2t L 2H|) x 0.0380 22,187,482 16,763,048
RE(%) = 0.0380 22,187,482 22,187,482
Deusz 1 Al (RELC-2H| + 2 E=2HI) x 0.0087 5,079,765 3,837,855
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HI) x 28(%) = 0.0050 5,230,326 5,230,326
AZIAUHUS oA (H2H+AEF - RH+MES 0.0049 5,125,719 4,799,335
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